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THIRD SEMESTER (PTDC)

CIVIL, MECHANICAL AND ELECTRICAL
ENGINEERING (NEW)
ENGINEERING MATHS AND COMPUTER
APPLICATION

Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
| remaining questions attempt any five. *
A B: YA & &0l 097 FAiE 1 (T
YR &) ATard 21 9w ueHl A F Bl uta @
& i)
(i1) In case of any doubt or dispute, the English
version question should be treated as final.

T oft v F W7 Jvar Har & Rufy §

FASH 9T F 9 F A T S
. Choose the correct answer:- 2 each
TE IR H 999 Fo|
i) Which number in decimal system is equal to
(11001),
(a) 25 (b) 35
(c) 22 (d) 32
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(2)
(11001), 1 T3 o 3 = i gea Fem B
(#)25 (a) 35
()22 (7) 32

ii) If y=log(sinx), % is equal to :

(b) cot x
(d) —cot x

(a) tanx
(c) ~tanx

aRk y=1log(sinx) & @ dy TR M-

/(H) cot x
(3) —cot x

(iﬂ) tanx
(H) ~tan x

iii) The value of |—*dxis:

(a) m ®) %lagﬁ (1+x3)
(c) log, (1+x) (d) 142
[a m%
() i (3) 3log.(1++°)
/(@) log, (1+x7) (@) 14
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iv) The P.J. of the differential equation
(D’ +4D+1)y=¢~ is

(@) - (b) ¢
(c) ﬁi
IEw wiE (D +4D+l) *®PL @
= 2
(‘3‘) -eF /(H) e
(®) = ‘(a) :
2 2
V) The area of the ellipse -i-g-k%”ml equals:
(a) 20m? (b) 5m
(c) 4n (d) 20%
: ?5__ .J_’_._,., P!
TAP TR T &
(3) 20m2 A7) 57
(T) 4n (z) 207
(a) Find % it y = (sinx)/ %" 6

afg y:(sfnx)!ﬂgx A % & HH FA S|
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(4)
®) If x=a(l+cosB),y=a(0+sin6) prove that

— =—cot— 6
dx

dy
— =—cot—
& dx
[ <2 d
©) If yﬂog(sm(e )),ﬁnd--Z 6
dx
ar yﬂog(sfn(erz )) , % 1 A TG Fira|
OR / 3¥d1
dy
If y* +3ax” +x° = find o
ﬁﬁy3+3m2+x3=0%ﬁ%ﬂﬂﬁmaﬁl
2 2
x4y
3. a) ]fﬂ x+y ’
2
ou Ou ou Ou
EE| —41-=-=]| 10
Prove that (&c QV) ( o 8y}
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(5)

_x2+y2
A U= x+y '
2
ou Ou ou Ju
b (35 =155

/b) Find the equations of tangents to the curve

y=x?>—5x+6 at the points where the curve
crosses the x - axis. 8

TF p=x>-5x+6 & 30 fag W W @ w
THHTOT S AT F&T T x -8 F Fear 27
OR / 3l

y ou  Ou
— y — 4t y—=0
If u=¢€" 7, show that x@x y o

Wu=e” ewn sty oo,

ox " oy
4. Solve any two of the following: 9 each
Pfefea 3 & #1341 & & il
bl Xtanx
a) dx

0 secx+tanx
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(6)
2 d _ :
n/ cos x e c) o ytanx—2sinx
b J (1+sinx)(2+sinx)
d ) 2 -
r' e ) sec” xtanydx+sec® ytanxdy =0
©) 0 94 x2
. a) Solve the following differential equations
any two
5. f:} Find the area of the circle x? + y*=25. 9 (any two) 6 cach
| et saaa T H g S (FF 3):
T x? 4 y2 =25 I STRA A il - (Fr% 2)
2
1 dx 4 l) d_y_ﬂ.',z =85x
b) Evaluate _[0 1+ 22 using Simpsons rule by d? dx Y
v
~"  taking 10 equal sub-intervals. 9
5 A ii) (D?-2D+5)y = sin3x
]
fraga e Ew '[01 > & AA 10 TH
o IHX iii) (D2 —4D+1)y=ezxsin2x
A o T |
b) Name any five word processors. 6
21 gia T-mRe
6. Solve the following differential equations: % T fereh
(Any three) 6 each
Fofaiad saswa afiew # 5 i (3 aH) a) Write a basic program to find the area of a circle

a) xzydx-(x3+y3)@=0 having radius 32.63 cm. 9
b) (¥ -a)d=(a-)")dy Pt B 32.63 2341, 3
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